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.- against him/her in the Police Station and he/she would be liable to

INSTRUCTIONS

Please correctly fill your: Roll: Numbér in O.M.R. Sheet.
Candidate will himsel be responsible for filling wrong Roll No.
At the: start -of the examination, before attempting the
question paper kindly check your. test booklet and O.M.R.
Answer Sheet and ensure. that: '

** The serial numbers of test booklet and O M.R. answer sheet
are same.
All pages of test boollet and O.M.R. answer sheet are
properly printed. All questions from S: No: 1.0 last S, No. 150
" are printed and pages from S. No. 1 to last S. No..24 are there
in the question booklet. :

in case of any discrepancy/defect the  candidate should

immediately report the matter to the invigilator for replacement of

test booklet and O.M.R answer sheet. No claim/objection in this
regard will be entertained after five minutes of start of examination.
Candidate will be liable for it.

3. Answer all questions.

4. Al questions carry equal marks.

5. Only one answer is to be given for each question.

6. I more than one answers are marked; it would be freated as

wrong answer. : k
There'is no Negative marking.
Each question has four alternative responses marked serially
as {4}, (B), (€}, (D). Candidate has to darken only one circle
or bubble indicating the correct answer on the Answer Sheet
using BLUE BALL POINT PEN.

Use. of Mobile: Phone/ Bluetooth Devices or-any other

_electronic gadget in the examination hallis strictly prohibited.

if any such prohibited: material is found with any candidate,
strict action will be taken by the Board against him/her as per

rule.

If-there is any sort of ambiguity/mistake either of printing or

factual nature in Hindi and English version of the question,

the English version will be treated as standard.

Warning : ifa candid_ate is found copying or if any unauthorized

material is found in his/her possession, F.l.R. would be lodged

be prosecuted under Section 3 of the State Prevention of Unfair
Means Act, 1992 and Board Regulations: Board may also debar
him/her permanently from all future examinations of the Board.
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“Palace on Wheels” train does not go to which 1. Ao eﬂ‘fv‘«{ Ee” ';:':{ fea g T—Tﬁﬁ’ﬂ?ﬁ

_ place? ’ g7 : ' ‘
(A) Sawai Madhopur  (B) Chittorgarh (Mg sEgR . (B) R
(C) Jaisalmer (D) Dholpur (C) STHerR (D) giergr .
Where the ‘Hadi Rani ki Baori’ (Pond) is located? 2. g} W @) 9l (aTeTT) et ﬁQﬁ 87
(A) Nadol (B) Todarai Singh (A) e (B) Trew Rig
(C) Abhaneri (D) Neemrana (C) aﬂqﬁﬁ (D)yHrmrom

. Where was the Asia’s Iargest cement factory 3. g¥ 1953 % Qﬁr\‘ﬂ EARGER:] Sl ?ﬁ"}fﬁ PREMT

established in the year 19537 - PEl Wﬁ'ﬁ fopar Q»TF? | S
(A) Jaipur (B) sawai Madhopur (A)TagR (B) warg HENYR.
{(C) Jodhpur (D) Bikaner (C) STrergR (D) §IHeR
The city of Rajasthan to which C. V. Raman has 4., o B g oy & 9L @) W A
named as “Island of Glory” is — ' - ol e T A ﬁ?ﬂ g TEE—
(A) Ajmer (B) Udaipur E (A) iR (B) S5agR
(C) Jaipur (D) Jodhpur (C) Sragr (D) e
The fair which is famous as the ‘Kumbh of Sahariya 5. “\gRar SFonfy & ag P T “@r ufag Aen
tribe’ is - ‘\ ? -
(A) Sitabadi fair (B) Nagaur fair (A) SrarerS) e (B) AR e
(C) Dol fair {D) Beneshwar fair (C)@Fff Te— (D) TR - 4 |
Among the tribal women in'Rajasthan, who weafs 6. ?WF{ ¥ anfearh "lf%?*ﬂaﬁ 1§f Wiﬁ
the “Katki” garment? Uy $I9 ysdr 87

- (A) Married woman _ (B) _Uﬁmarried woman (A) RrafRe wfer (Bi sifRafee afeer
(C) Widow woman (D) None of these (C) ferar wfeen D) ¥ B T
Which of the following pairs (Coins - Area of 7. f=foRaa § 9§ o= 91 Gﬁ@T (R — srarer
Circulatién) does not match? BT &) *\T?rf%ra 87 87 - ‘

(A) Swarup shahi— Mewar (A) WIS — AT
(B) Madan shahi - Bikaner (B) He3mel — SIFFR
{C) Vijay shahi —lodhpur (C) Rrsrramdy — W
(D) Jhad shahi - Jaipur (D) SrSeTE — WA - : ,
Who wrote ‘Zij Muhammad Shahi’ a book about 8. e g & IR § Rt qeH g QTTéT RASED
Astronomy? : : fras fored) o7 o :
(A) Jaswant Singh ruler of Jodhpur (A) GﬁHg'\’ P IANID ’\Eﬂﬁ'ﬂ g
(B) Bharmal ruler of Amer - (B) 3R & NP ARFA

| (C) Sawai Jai Singh of Jaipur (C) SR & wHarg wg R
(D) Maharana Udai Singh of Udaipur (D) FEIYR B HENOT Iy R

126 O - Page2 of 24

9. Name the freedom fighter who composed the 9. 99 wWoFAGT W BT A §arsy R
" popular song called “Panchida” - “Oieer’ AME dleii M B FE Bl —
{A) Vijay Singh Pathik  {B) Hiralal Shastri (A) ﬁﬁﬂt{ g ufre  (B) ERreter e
(C) Manikya Lal Verma (D) jainarain Vyas (C) =i FFR;I’ af (D) SRERRIT S
10. Who has established Ramprakash Theater in 10. SIqR # AveTer Rger @ AT ﬁv_\’ﬁ ﬁ

Jaipur? 27
(A) Maharaja Ramsingh il (A) wERTST IERiE feda
(B) Sawai Jai Singh (B) ©arE waRis
(C) Maharaja Man Singh e B ——
(D) Maharaja Pratap Singh ©) R
11. What are Lappa, Lappi, Kiran and Gokharu? 11, 3y, o), fPvor ok s R/ 87
(A) Characters in Rajasthani film ‘Sasu maa’ (A) T frew ’w‘\g'ﬁ' ¥ fpeR
.(B) Different varieties of lace/gota (B) MeT 7 A= e
(C) Names of sherwani ‘ ©)IRarf & A
(D) varieties of higher yielding moth (kidney bean, (D)sﬁ%@ Sus B A e (ﬁiﬁﬁ 'eﬂ'i:f,_
" phaseolus aconite folius) SR v q%ri%rw) & e
12. ‘Murkiyan’ are worn - 12. gfedr ugs o € —
(A) around the neck  (B) on nostrils (A) T H (B) :{%‘3{ gy
(C)inears - (D) in wrists (C) &=t § OERIEK:
13. Match the following and Select the correct answer 13. fo=foRRag &7 ﬁﬁﬁlﬁ Fifre ek N’ MY
from the code given below - HE kil & SR BT TG BT —
Newspapers HTER=9A : ‘
(i) Praja Sevak (i) ST S ﬁ |
(i) Naveen Rajasthan (i) T TR
(iii) Lokvani , (iii) reparely '
(iv) Sajjan Kirti Sudhakar (iv) TS DI e
Place of Publication - UHTIE BT I
(1) Jaipur (1) SR
{2) Ajmer @) RGN
(3) Jodhpur @) Gﬁug‘\’
(4) Udaipur @) Wﬂ'\’
Code - S e -
(A) (i)-1, (ii)-2, (iii)-3, (iv)-4 ~(A) (i)-1, (ii)-2, (iii)-3, (iv)-4
(B) (i)-3, (ii}-2, {iii)-1, (iv)-4 (B) (i)-3, (ii)-2, (iii)-1, (iv)-4
(C) (i)-4, (ii)-3, (iii)-2, (iv)-1 (C) (i)-4, (ii)-3, (iii)-2, (iv)-1
(D) (i)-4, (i))-3, (iii)-1, (iv)-2 {D) (i)-4, (ii)-3, (iii)-1, (iv)-2
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14. Match the following and select the correct answer

15.

from the code given below —

List- : List-li
(i) Jahar Pir (1) Ramdeviji
(i) Incarnation of Shiv (2) Pabuiji
(iii) Incarnation of Lakshman  (3) Gogaiji
in Phad painting -
(iv) Ramsa Pir (4) Tejaji

Code -

(A) (i)-1, (ii)-2, (iii)-3, (iv)-4

(B) (i)-4, (ii)-3, (iii)-1, (iv)-2

(C) (i)-3, (ii)-4, (iii)-2, (iv)-1

(D) (i)-3, (§i)-4, (iii)-1, (iv)-2

Who is'the founder of ‘Hadoti Seva Sangh’?
(A) Pandit Naynu Ram Sharma

(B) Vvijay Singh Pathik e
(C) Jainarayan Vyas E
(D) Arjun Lal Sethi

14.

15.

fferiaa &1 gafera #ifvrg ik i fRg g

FHT 9§ HE IR BT AT PINC —
A A

(i) &} 4R (1) <RaSh

(i) Rra &1 EaR (2) urgsiy

(i) IEIOT BT AGAR (3) TINIISH
we REdar §

(iv) T OR +(4) TS

WE‘,’ - .

(A) (i)-1, (ii)-2, (iii)-3, (iv)-4

(B) (i)-4, (i))-3, (iii)-1, (iv)-2

(C) (i)-3, (ii)-4, (iii)-2, (iv)-1

(D) (i)-3, (ii)-4, (iii)-1, {iv)-2

NS ﬁ'cn T B AP c‘rﬁ:r g°
(A) ifsa g < 3l

(B) fasra Rig ufdrs

(C) SIRIYT 19

(D) 3r5f et WS

21.

- 22.

23.

24,

(A) Churu (B) Jhunjhunu (A) T (B) 11
(C) sikar (D) Bhilwara (C) o (D) ArerareT

25. To which Sufi order did Sheikh Hamiduddin Nagori 25. ¥rg gAIgEN ARG 59 gl R & 97
belong? ‘
(A) Suhrawardi (B) Magribi (A) e NEE (B) #TRAT
(C) Chishti (D) Qadri (C) fereely D)@

26. Which of the following freedom fighters died in 26. fr=r § J fw wWaera 99 @ S B
Bareilly Jail as a result of Jail tortures? I & YRGS el ol #§ TG B
o 5
(A) Jorawar Singh Barhath ?j) ;ﬁﬁm’\’ﬁﬁ ares '
(B) Keshari Singh Barhath (B) dudiRiE IRES
(C) Pratap Singh Barhath (C) wamaRiE aREs
{D) vijay Singh Pathik (D) ﬁmﬁ:rg ufors

'27. Maximum production of ‘Khas’ comes from which 27. T B FAID ST XTSI @ 59 I

belt of Rajasthan? ¥ Ear e ?
(A) Kota, Bundi and Jhalawar (A) BreT, 981 iR sirerars
(B) Dholpur, Karauli and Alwar (B) %ﬁwg? PRI 3R JeTaR _
(C) Ajmer, Bhilwara and Chittorgarh (C) 1orR, ¥ierareT IR RrileTe
(D) sawai Madhopur, Bharatpur and Tonk (D) m W HAR IR <

Match list | with list Il and choose the correct

code ~
List—1 List-l
{Author) {Text)
{a} Girdhar Aasiya. {i} Vijaypal Raso
{b} Jalha (i) Sagat Raso
{c) Nalha Singh {iii) Buddhi Raso

(d) Suryamal Misran  (iv) Sati Raso

(A) a-(iii), b-(iv), c-(ii),d-(i)

(B) a-(i), b-{iii), c-(iv),d-(ii).

(C) a-(iii), b-(i), c-(ii),d-(iv)

(D) a-{iv), b- (nl) c- (u),d -(i)

To which age does the art|st|c splendour of
Rajorgarh belong?
{A) Gurjar-Pratihars
{C) Chauhans

Who is called the “Gandhi of Chirawa”?
(A),&Ghanshyamdas Birla

(B) Master Pyarelal Gupta

(C) Damodardas Rathi

(D) Sardar Harlal Singh

{B) Rathofes ‘
(D) Guhil-Sisodias

From which district of Rajasthan, remains of the
Sunari Civilization have been found?

21.

22.

23.

24.

B 0 R T ok w8

T P WA DIRG —

@ A4
(eTer) . (Ferars)
(a) FReR s (i) fasTrrOTe T
(b) STe . (ii) G
(c) e T (iii) g <
(d) e fHsToT iv) ST =Ty

(B) a-(i), b-{iii), c-(iv),d-{ii

(C) a-{iii), b-(i), c-(ii),d-(iv

{D) a-(iv), b-(iii), c-(ii),d-(i)
"ﬁﬁ?ﬁﬁzﬁmm%ﬁmﬁw@a
27 :
(A) ToR—TfER (B) SIS

(C) dre= (D) TRe— Rreen
(A) TmreameT fSear :

(B) ReR WRTSl [l P

(C) TMIeRET WI&T ﬁ

(D) TRER & g
WWE&WW$%€W
q U gQ §°

(iv}
(A) a-(iii), b-(iv), c-(ii),d-(i}

)

)

16. ‘The Rajab Vani’ book is related to which 16. <Soe 9ol YIS fha Uy /Auer | et
cult? 7 .
"(A) Dadu (B) Vishnoi (M) TIg (B) faw=rs
(C) Ramsnehi (D) Nimbark (C) IFR=TET (D) Frama
17. Swami Dayanand Saraswati first came to Rajasthan 17. ™) €grFe SxsEdr trgaﬁ IR 1865 5. H ... =
in 1865 AD as a state guest of - B ATDIY AT B wY F TSR AT o |
(A) Jaipur (B) Jaisalmer (A) SR (B) SrerR ,
(€C) Udaipur (D) Karauli (C) ST (D) TR
18. Which of the following pair is not correct? 18. f=foRad § 9 BH—1 T HE TE 8
(A) Dungji-Jawahariji - Sirohi (A) W‘Wﬁ'\’ﬁﬁ —~ RRE
*(B) Mehrab Khan - Kota (B) HieR1g @ — BT
(C) Lala Jaidayal - Kota ‘ (C) Tl SfgegTe] — Eﬁﬁa .
(D) Thakur Kushal Singh - Jodhpur (D) W W ﬁ's’ _ SR
19. 'Jaipur city was established in the year - 19. SIYR &I R~19T qy & — :
| (A) 1727 AD (B) 1723 AD (A) 1727 3. (B)1723 §.
- (C)1702 AD (D) 1750 AD (C) 1702 g (D) 1750 .
20. ‘Kanak Sagar’isa- 20. ‘B9 AR’ UH & —
(A) Ramsar Site (B) Black Bug Sanctuary (A) THER @IS (B) BT T IgRYY
» (C) Tiger Sanctuary (D) Bird Sanctuary (C) 975 PRy (D‘) gefl rgRTyg
126 O Page 4 of 24
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Match List-l with List-Il and select the correct’

28. 28. A1 B gE-Id gAfer ‘cﬁﬁm S|
.answer Using the code given below — fé'q MTq f{E Bl TANT P TE IR 'ﬂﬁ’l—
List-i '\:L-.;ﬁ_..;
{Triveni Sangam) ! (f%ﬁuﬁ )
(a) Bigod Ly (a) 9
(b) Rajmahal & - (p) TR
(c) Rameshwar Ghat V oo (c) MR T
(d) Beneshwar g ?‘ﬁ&; (d) TR
List-ll ﬁ o -\‘Iiﬁ""
(Rivers) ‘ < @)
(i) Banas, Bedach, Menal — (i) &, 99, A9
(ii) Banas, Dai, Khari (i) 9T, S, @
(iii) Banas, Chambal, Seep i ity s, <iee, g
(iv) Som, Mahi, Jakham e (iv) |, A, S
Code - o0 HBe —
(A) (a)-(i), (b)-(iv), (c)(iii), (d)-(ii) %%j (A) (a)-(i), (b)-(iv), (c )("') (d)-(ii)
(B) (a)-(ii), (b)-(iv), (c)-(iii), (d)-(i) %ﬁ ~(B) (a)-(ii), (b (W), (c)-(iii), (d)-(i)
(C) (a)-(i), b) (i), (c)-(iii), (d)-(iv) £ (C) (a)-(i), (b)-(ii), (c)-{iii), (d)-(iv)
(D) (a)-(i), (b)-(iii), (c)-(ii), (d)-(iv) T (D) (a)-(i), (b Je(i), (c)-{ii), (d)-{iv)
29. Which district of Rajasthan shares lowest 29. IORAM BT DI AT FOTe Fe FF AR
international boundary? : LS T AT B ?:? '
(A) Bikaner (B) Jaisalmer o (A)—Gﬁq-,—rer\r ~ (B) SR
. (C) Jodhpur (D) Ganganagar g?% (C) TR (D) IR :
30. In the context of Rajasthan “Plug and Play facility” i;};:i 30. o @ Wﬁ # o i @ g{%mr BT
refers - @if; a8 —
(A) to spread- education among the children of iijii (A) dfRE TR & gt § ﬁmﬂ T IR B
disadvantaged community forg
{B) to setting up of manufacturing industrial units o (B) faffmior sfreifira LRI a%
{C) to protect the girl chil@' be!ow the age of’ i’ig' (C)?HQR%’ a$ < BH T ‘c}% maﬁ = <
eighteen years : i:;g} ’ 3 foru v
(D) to promote cooperative societies ‘ 5 (D)WR?[ wfaferat a7 9gr@r <9 @ oy
31. Structural Equation Modellmg (SEM) is related to % 3. woRe s Atefel (@H) fed Rafa 9
which condition? A o 27 - :
(A) Formatlon'of sand/sand dunes (A) X /¥ & el Bl rator
(B) Change in ecology (B) TiRReifas # uRad= .
(C) Soil/soil erqsion/erosion (C) s / R o m/m
(D) Forest erosion (D) 7 werd
32. Where has the Japanese Zone been developed for . 32: rover # affenfe faora 2q TﬂTqT*ﬁ IS
industrial development in Rajasthan? et el fear T 87
~ (A\) Jaipur (B) Kota (A) SRR (B)ﬁep
(C) Alwar (D) Ajmer (C) arera” (D) TR
126 O Page 6 of 24

33.

34.

- 35

36.

Olive oil refinery is located in Rajasthan in -
{A) Lunkaransar {B) Sardarshahar
(C) Mandore (D) Deshnok
Rajasthan Financial Corporation-was set up in the
VEAT cvivvvivinrinnons by the Government of Rajasthan.
(A) 1952 {B) 1955
- (C) 1965 (DY 1972
In which districts are the Palash Forests found in

Rajasthan? »

{A) Alwar, Ajmer, Udaipur, Rajsamand
(B) Kota, Bundi, Baran, Sawai Madhopur
(C) Nagaur, Jalore, Bharatpur, Baran

(D) Banswara, Dungarpur, Jhalawar

Which archaeologlcal site was known as the

33.

34.

¢
ic»?} }

\m‘vm 35.

o

ey
L

ey,

L

TR H S 1 <R < Rer & —

(A quUERTRR § . (B) WREREER |
(C) AR 4 (D) e
RGRAM WHR g§RT I & Fa &t
RMTT TG ¥ 9 T o |
(A) 1952 (B) 1955
{C) 1965 (D) 1972

RIS ¥ uary & 99 B 9 e § Ul
(A)e,mm 3STHR, JIYR, ﬂ\an

(B) ®rer, ), 97, Farg TR

(C) AMIR, IR, WRAR, IR

(D) giaTS], SIRYR, STATITS

-WWWWW@W

“Tamravati’? HTAT 977
(A) Kalibanga (B) Bagore (A) ST (B) SR
(C) Ahar (D) Bairath - (©) GHET@ (D) Erire]
""87. ‘Who is called as “Jatin Das of Rajasthan’? ?52 37. RISRM B AfH ¥ FEAT § —

(A) Baal Mukund Bissa o8 (A E[Taﬂflg? o
(B) Pratap Singh Barhath o (B) yamuRiz IRES = o
(D) Zorawar Singh Barhath - (D) SRTER Riz IRES |

38. The Bhimlat waterfall is situated in - % 38. ofiHera STovTe Sraferd & — :

" (A) Menal river - (B) Mangali river 3 (A) 91T ST R (B) TRTT &Y R

(C) Berach river - (D) Chambal river i’:f (C)dea T W (D) TgeT I W

39. As per State Forest Report 2021, top three districts z%% 39. we BRee RUE 2021 @ AR, TSR 7
of Rajasthan. having maximum total forest area ;3 Faiftis o &F%e Il aF Rt € —
are - ‘ : ‘
(A) Udaipur, Alwar and Pratapgarh o (A) ITIGR, TR qAT YATTTSG
(B) Udaipur, Baran and Alwar ;‘fi (B) STUYR, IRT TAT AR
(C) Udaipur, Baran and Chittorgarh o0 ©) SR, gRI oI oIS
(D) Alwar, Baran and‘Pratapgarh' g?i (D) 3TeTaR, §RT AT YU

40. Which one of the following (Dam-Location) is not “;’3 40. ffaRaa d§ 9 Eﬁﬂ?ﬂ (W—-—&ﬂﬁﬂm) ?j‘éﬁ%lﬁ
correctly matched? S ,_ gﬁg”‘ ?ﬁﬁ 27 ‘
(A) Hemawas-Pali (B) Bankli-Banswara = (A) SHTET—TeR (B) gieh—aiaarer
(C) pichiyak-Jodhpur ~ (D) Meja-Bhilwara (©) WW*WE“’ (D) ST SrerarsT

41;; ‘Jantar’ musical instrument is played by - M. SR 9 99 fHEd R T S 27
_(A) Devnarayan ji ke Bhope (A) éﬂ’ﬂw S
(B) Pabu ji ke Bhope (B) urg Sl & MY
(C) Garasia Tribe: (C) iR Wl
(D) Bhil Tribe (D) ot S

126 O Page7of 24



42.

43.

44,

45,

46.

47.

“ (A) Phad

The making of which folk art is the ancestral
occupation seen only in village Bassi of Chittorgarh
District?

{B) Sanjhi

(C) Veel (D) Kavad

The real name of Vijay Singh Pathik Was -
(A) Bhoop Singh Gurjar

(B) Bhag Singh Gurjar

(C) Bahadur Singh Gurjar

- (D) Badal Singh Gurjar

Which of the. followmg pairs (Art Centre) is not
~ correctly matched?

(A) Thewa — Sikar .

(B) Rugs making — Jaipur E’

(C) Ajrakh print — Barmer

(D)'Puppets — Udaipur

Which fort was conquered by Alauddin Khml and
named Khalrabad? _

(A) Siwana fort ' {B) Jodhpur fort

{C) Ranthambore fort (D) Chittor fort

The period of Bijolia inscription is - ‘

(A) 1676 AD (B) 1170 AD

(C) 953 AD (D) 1273 AD

Which queen of Maldeo got ‘Bahuji — Ro — Talab’
constructed near Mandore?

(A) Hira - De - Jhali

(B) swarup - De — Jhali

(C) Uma - De - Bhatiyani

42,

43.

- 44.

45.

46.

47.

fou ot wear @ o a1 yw ger
Baa Rritee Bt & um o=l § & 3
AT 87 ; |
(A)ws (B) wish

(C) &= (D) Bras.
fasra s ufde &1 arafds 9@ o —
(A) 3 Rig ok

(B) 1T g ok -

(C) ve1R s TRk

(D) 91 g ol

e # 3 e (o 9%) g

gAfera w18 87

(A) &t — Ao

(B) wTefran fAmior — SR
(C) aroiy file — SR

(D)zﬁagasﬂ — QEIR

TeTeEr Raerat 3 farr gt @ Gﬁﬁ'cﬁ'\f BT
A BREIE @17 |

(A) fyamon gt (B) Trﬁﬂg? g’*f

(C) R Tt (D) Rraits gt
fasiiferar aferg ot #1a & —

(A) 1676 2. (B) 1170 .

(C)953 3. (D) 1273 .

ATeed @ fHE I ¥ AR @ e ageh
~ X — e’ 1 FEior Hram o
(A)ERT — T — wrell

(B) Wy — T — FTel

(C) 5T — < — wfearh

Page 8 of 24

(D) Parbati Sisodeni (D) e R
48. Which of the following match is not correct? 48. fy=forRag & @ @ W ﬁ?*lFf wE T 87
(A) Rajab Ali Khan — Veena player (A) Y579 3rehl @ — 9o are s
(B) Amir Khan — Sitar player - (B) anfiR @< — R 915®
(C) Allah Jilai Bai — Maand singer (C) 3reerrE e 915 — wie T
(D) Ravi Shankar — Nad player (D)=fg 3R — 7§ I”H
49. “horva” Song of Rajasthan s - 49. <o # gRar NI R —
(A) a'separation (Virah) song (R) & faxe M
(B) sung to celebrate birth in the family (B) uRaR # w11 W arell Us Gﬁﬂ?\qa Tﬁﬁ :
(C) Bride farewell song (C) =g ﬁ?{ré fa
(D) harvest song (D) wger VU B RLER I rrn# arer Hra
126 O

- 50.

Gulal Bai and Krishna Kumari are famous for — 50. gﬁ ars‘ AR o] EB'HR& ﬁﬂ:ﬁ% forg ulig
(A) Swaang Folk Dance (B) Nautanki Folk Dance (A) Wi Aeaed (B) e m,q,q,cm
(C) Gavri Folk Dance (D) Khayal Folk Dance () Tad dperen (D) @ ArgArey
51. In representative fraction 1:50, 50 represents - 51. yfafafe = '1:50 # souiar & —
(A Length of line in the drawing (A) R ® a1 3 TR _
(B) Actual length of the line on the object (B) oy R WET P IRAfde dEE
(C) Double the length of line on the drawing (C) Rrzerst # Y & «i9rE &1 =1 O
(D) Half the length of the actual length (D) 5 TS ) Al oaTE
52. When a member is free to expand or contract due 52. 9 zmé o, dYHE e qﬁa' a1 lil?!.a'd G
to the rise or fall of temperature, then which ' RV AR T I o o forw ?«‘:{ﬁ‘a?
stresses will be induced in the member? BT &, 99 e # P W.qf%fqa Yar Bnmr
(A) Tensile stresses (B) Compressive (A) T=ra ufee (B) T ufdeet -
stresses (C)axa ufimar (D) &S ufiea 8
' (C) Shear stresses (D) No stress g p ponn
53. if tan@ :E, then ———Mf)ssi;:f:s::: isequal to - : 53. gfe tand = ‘cﬁ ——-——-——-—psme p =
(e (B) - @ - (@
pP-2 pA+q? p’-q? p+w;q
= (D) (©22 (D)2
P+ P—q
54. If cosec (¢ -20°) = sec 49 and 49 isanacuteangle, - 54. AR cosec (¢ -20°) = sec 49 Gﬁ'\’ 49 T ??}ﬁfﬁ‘lul
then the value of ¢ is - 2, A ¢ BT A % .
(A) 2° (B) 22° (A) 2° (B) 22
(C)12° (D) 66° (C) 12° (D) 66° .
55. Which of the following scales is used to accurately 55. ¥gd B fa‘%.!a"-l B |E @7 ¥ " 9 forg
measure minute division? frafaRea 3§ @ g M &1 SwanT f&Ha
: ST 77
(A) Plain scale (B) Diagonal scale (A) T YT (B) fapot ﬁ‘WFIT
(C) Scale of chords (D) Comparative scale . (C) St EﬁT 41T (D) ORISR Sy
56. What is dedendum for external threads? 56. TrEd g & forg 3@'@? ®IT 87
(A) Radial distance between pltch and minor - (A) T 3k B Rieier @ 9 Brog g
cylinder .
(B) Radial distance between major and pitch (B) uq@ 3R o Riclsx @ 99 B g0
cylinder o
(C) Radial distance between major and minor (C) 33 &R B fyeler & a1 a0
cylinder v -
(D) Axial distance between major and pitch (D) uqE IR g Rrcier & 1 elig @
: cylinder .
57. Ratio between normal stress (in case of cube), 57. ' ©F @I BE Hael ) dF 999 UER
: subjected to three equal mutually perpendicular wiqaq et ufgs & el FRNG 8, vrezel
pairs of stresses acting on the six face;, to gferasr 3R aafe faq;[%f P AU BEATIT
- volumetric stain is called - 2
~(A) poisson’s ratio (A) @i BT ST
{B) Modulus of elasticity (B) YeaReIdT AIUH .
(C) Shear modulus (C) 3THUYT HIUih EE
(D) Bulk modulus (D) I YATR[CAT HIUIh '
126 O Page 9 of 24



58.

59.

60.

61.

62.

63.

cos? (45°48) cos? (45°- 0) =

tan (60°4+0) tan (30°-8)

(A)1 : (B)2
(C) L (D)o

On dxv:dlng the polynomial (x- 3B+ x + 2) by a
polynomial f{x), the quotient {(x-2) and remainder
{4-2x) are obtained. The polynomial f(x) is-

(A) x*x-1 (B) x*+x+1

(C) +x-1 (D) x*-x+1

A ladder is resting on a smooth ground and leaning |

against a rough vertical wall. The force of friction
will act - '

(A) Towards the wall at its upper end

{B) Away from the wall at its upper end

(C) Downwards at its upper end

(D) Upwards at its upper end

;Zﬁx"ij, = %g, then xiyisequalto-
(A)2:3 (B) 3:2
(€)5:1 (D) 1:5
Ifx? + X—% = 83, then the value of (x3——;1§) s <
(A)s1 (B) 729
(C) 756 (D) 702

A rifle bullet Iooses ( 0) t of its velocity in passing

through a plank. The least number of such planks
required to just stop the bullet is -

58.

59.

- 60.

61.

62.

63.

‘(A) 2:3

cos® (45°+8) cos? (45°-8)

tan (60°+6) tan (30°-6)

(A)1 : (B)2

(C)1 . Do

LG El’gfﬂ'ﬂ'fx) ERI 9gU8 (- 3x2+x+z)m‘r
fenfora &
(4-zx)umaﬁm%‘|a§q'c:f g —

(A) x*-x-1 (B) *+x+1

(C) ¥*+x-1 , (D) x*-x+1 :
wmﬁﬁmwﬁﬁﬁ %ﬁ?w
el SR R & HER gl gg &, g
I B HOM — ,

(A) 393 TR AR R R & iR

(B) dIR W §T 3D ST RR W

(C) 39 U RN W) 1= & aR

(D) 39 FHI RR T FR $ AR

?Tﬁt x3+3xy

y3+3x2y

Gs,ﬁx:ng-—
(B)32
(C)5:1 (D) 1:5
A k2 + 5 =83, (P-F)F AT —
(A) 81 (B) 729
(C) 756 (D) 702
T a5 B el 0 I b ()t AT v
TPE B T W [ORA W @l e 8, e

W HITHT x-zsﬁ?a‘fw»
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(A)9 (B)10 (A)9 - (B)10
(C) 11 (D) 20 (S FEE. (D) 20 »
64. The temperature which has the same value on 64. gfewyy i tﬁﬁﬂ{ﬂg—d TPl U ﬁrra GILEIE]
' both Celsius and Fahrenheit scale is - T 9HEM A BRI, 98 § —
(A) 80° (B) -80° (A) 80° (B) -80°
(C) 40° (D) -40° . (C)ao (D) -40° L
65. The maximum value of Poisson’s ratio for an elastic 65. U TIURY ugRf ©g UlsEd 3rUN &
~ material can be - : fdrmaH A B Tl § —
(A) 0.25 (B) 0.5 (A)0.25 (B) 0.5
{C)0.75 {Dy1o0 (C)0.75 D)o
66. The centre of gravity of an equilateral triangle with 66. Q‘qs TG ﬁ'l’ﬁﬁ RorgaT udP YT BT 919
' each side ‘@’ IS ..ivirirennn from any of the three ' B, Pl Tod B TAD YOl Wi,
sides. ' iﬁ W BN |
(A) (av3)/2 (B) (av2)/3 (A) (av3),2 (B) (m/i)/z
(©) a/(2v3) (D) a/(3v2) (©) a/(2V3) (D) a/(3V2)
126 O |

87. |dentify incorrect statement in context of force of 67. o/ u¥u §1 © Ty H A9 HYT BT
: solid friction - ‘ UgIIeY — :
(A) It is directly proport:onai to normal reaction (A)ug Q) et & = = uRifsar @
between the two surfaces. ' W’:qu?ﬁ S 2
|
(B) It opposes the motion between the two . :
surEaces, (B) 75§ <1 wtel & dial Ty T faRwer deetl & |
(C) 1t is dependent upon material of the two (C) g T wasl & ygref w® ik oar 2|
surfaces. _ (D) g <1 wael @ &ove o) iR sRar 2
(D) it is dependent on the area of contact surfaces. :
68. /0.01 +0.0064 = | 68. /0.01+0.0064 =
(A)0.3 (B) 0.03 "(A)o.3 (B)0.03
(C)0.09 (D)o.s (C)0.09 (D)o.s
89.In open belt drive, the shafts are arranged in - 69. ol 9T g ¥ v @ 59 UeR ealen -
. f&ar e 87 |
(A) Parallel and wheels rotate in same direction (A) iR Td ke v & feen ¥ g €
(B) Parallel but wheels rotate in opposite direction - (B) gql;”ﬂ'\’ ofds ufgy Rfuda feem o aﬁéi
(C) Right angle end wheels rotate in some definite (C) TFFIT R aiX ufw e By ﬁ?ﬁ 3§
direction U ’
(D). Parallel and wheels can rotate in any direction (D) WA SR ey fpe 4 !35” A @lfi %
70. When two bodies at different temperatures are 70. 9 STONT—2TeNT AIYHH B < ﬁﬁﬂlﬁ P W
brought into contact, after sometime they will ¥ T Sidr % Fﬁ BB T IS E: o
S attain a......... temperature. . AI9T OIS B | . ﬁ
(A) Higher {B) Lower (A) 3= (B) ey
(C) same (D) None of these (C)Tga™ (D) 575 © P15 T
71. Instruments used for drawing curves where the 7. g% 9 & o SuarT {6y TF arer SusRor
radius of curvature is not constant, are called - ~ oTef aspar & Broar Rer w8 B 8, Feard
{A) English curves (B) French curves (A) 3R a5 (B) B9 I
(C) Drafting curves (D) Protractor (C) WUT a5 (D) et
- 72. The drawing that shows the complete view of an  72. 13 &1 fbell TR B W 9N B TEH G
© object with all its parts a§sembled together - FASH IHFT T ?R?? fewmar & —
(A) Assembly drawing  (B) Detailed drawing ( A)'@'Erc‘rﬁ Ry (B) ﬁﬂﬁﬁ fry
(C) Sectional view (D) Pictorial drawing ,
drawing (C) srurita gva B (D)-‘I%ISIHEI ==
73. In case of plain bush bearings, to prevent the 73. o IR AT @ g ¥ Rt § R
rotation of bush in the bearings, it should be fitted % O B AP B o, 39 a9 e
with - o ST anfge?
(A) Screw or key (B) welding (A) = a7 =) (B) AfssT
{C) Brazing - (D) Soldering " (C) S T (D) TieTr
74, A body covers a distance L metre along a semi- 74. 1 fuvg us a&f—iﬁrﬁﬂ? ’qﬂ % IR L
 circular path. The ratio of distance to magnitude of : e @ g BT %! @ R &
displacement is - gRHTOT BT STTUTH = ‘
(A) n:2 (B) 2:m (A) 7:2 (B) 2:m
©L:n (D) m:L ©)L:n (D) n:1
126 O Page 11 0f 24



75.

- 76.

77.

78.

79.

80..

8t.

(D) Mechan&@

In ideal machines -

(&) Mechanical advantage is greater than velocity
ratio ‘

(B) Mechanical advantage is equal to velocity ratio

(C) Mechanical advantage is less than veloc«ty
ratio

advantage is unity

A metallic baﬂarm!y restrained at the ends on rise

in temperattmg develops -

(A) Shear st@;&s (B) Tensile stress -

(C) Compreﬁe stress~ {I3) None of these

Con\)ert 5 Ngwxfon to Dyne -

(A) 500000 Dynes (B) 50000 Dynes

(C) 5000 Dynes (D) 500 Dynes

identify inc J : ect statement in context of conduit
wiring- ¢

(A) Gives b@r appearance Eg

(B) Relattveiy;}horter life span:

‘ (C) Relattve}&*@osther system of wiring

(D) Skilled vakmanshlp is required

Correct sequence to draw a circle by freehand is -

(A) Draw arcs, centre lines and join arcs

] g‘*m
(B) Draw ce‘iﬁe hnes and circle

(C) Draw c%e lines, arcs and join arcs
(D) Draw ci% and then center lines.
@il'}

In orthogra&w views, the size of object -

{A) Does not depend upon position of object

(B) Depends upon gap between object and p:cture
plane

(C) Dependgggpon position of eye with réspect to
picture plahe

~{D) None o%%e these

ol L
V-block - is d@sed in Mechamcal Engineering
workshop fa;m
(A) Checking straightness of a job

- (B) Providing taper on a job
(€) Holding cylindrical workplace for performing

drilling operation
(D) Checking height of a job:

75,

76.

77.

.78,

79.

80.

81.

am(%?t{?ﬁ’ﬁﬁ~
gA}WW%Wﬁmm%

(B)mﬁwwﬁw$wsﬁm%‘
(C) wifys @™ AT U W B By ®

(D) Tifs & &7 99 U BT R

aroEr # gfg B R Refaa g § -

(A) aroeuvr U (B) 919 Hfdee
(C)udey gfige (D) 574 9 BIS 7S
5 <[ BT S F gafery —

(A) 500000 €IS (B) 50000 TS

(C) 5000 STSH (D)soosr8
Frgge aERT B WeW fr TAT B B

gEE BT —

(A) g e &

~ (B) \rera: BICT ShaAdIe

(C) Tmier: & UPR & IR

(D) T FHIR BT ALY BT &

T 7S g7 991 @ oY W8 3 B —

(A) =y T, B X 99T R ATl @)
e AT :

(B)Wwaﬁaaﬂtﬁm

(C) B=g @1 99T, ﬁm@ﬂmaﬁ?mﬂm‘rv

Sirg T
(D) g T Ty B YT T

Sifeifnfthe o H, a% BT AR —
(A) azg @1 Rerfdy o R el e @

\(B)ﬂ?ﬁﬁﬁaﬂﬂiﬁéﬁ'ﬂ?ﬁﬁwﬁﬁ?

Hal B

,(C)%aaaa%wﬁﬂmzﬁﬁvﬁfwﬁﬂh

PAT B

(D) 3H § Big e

Tty it rRiErar H v- <ifd ugaa

BIT & —

(A) Sifg & HeImo B STiEe @ forg

(B) Wifg WX 2w 7 & forg

(C) fefei ufthar B &Y JIDR ¢ pTiE Y
gme & forg

'(b)maﬁmrs‘wmﬁ%ﬁ

82.

83.

84.

- 85.

86.

87.

(A) Resonant waves

A worm: and worm wheel transmission is used,
when=-

- (A) Speed reduction is high
(B} Less friction is required

(C) There are space restrictions
(D) Speed reduction is low

A stone falls freely from rest. The ratio of the

distances travelled in first, second, third and fourth
* second is - :

(Ay1:1:1:1% (B)1:2:3:4
(C)1:3:5:7 , (D)l.:2:4:8

A trident ‘shaped conductor is-installed on tall
buildings, minarets, chimneys and pillars. What is
it called?

(A) Overload conductor (B) Earthing

(C) Current Antenna (D) Lightning conductor

Piezoelectric material serve as a source of —

(B) Musical waves

{C) Microwaves (D) Uitrasonic waves

A train is tr‘aveHing at 90 “km/h. The brakes are

“applied so as to produce a uniform acceleration of

-0.5 m/s%. Now, how far the train goes before it

stops?

(A) 625 m {(B)825m

(C)875m (D) 925 m

The outer dimensions of a closed wooden box are

10 cm, 8 ¢cm and 7 ¢m. Thickness of the wood is
1 cm. Find the total cost of wood required to make

82.

83.

aﬁsﬁ?aﬁaﬁﬁwﬁrmmmﬂﬁm
ST &, Stafes —
(A) TR ¥ B e =Ry

(B) 5 =¥ =Ry

(C) W & ey 8

(D) fay # %+ B9 =Y
wwmﬁammwégwmﬁﬁw%t
v, fgedr, g ok =gl 9@vs ° 99 9

T g8 ¥ o & —

(A)1:1:1:1 (B)1:2:3:4
{C)1:3:5:7 (DY1:2:4:8
'? f- $ .F- ﬁ ﬁ :-ﬁq 'TW,W

& PR BT AH AT ST %"l 39 T
Ped 27 '

& A efRem Tes  (B) difT

— (C)faepa W& (D) TR AT

85. mﬁgﬁmﬁmﬁmzﬁmﬁm
CRGINTd

Ly (A) 3T T (B) < et

€ (C) GRS (D) wRys7e aAA

%é T Y 90 fBAL /€er W) °el BT 81 -0.590

?::@ /2 BT TP GHM @R SO A D g

(0 dP R W ¥ 9 P § yd el fha

g e ¥ |

- (A)e2s I (B)s25 1.

ey (C)e7s 4l (D) 925 41,

£ 1094, 8 A &R 7 A T THS DY

& e 1A ¥ AR 1 A2 T P e

126 O
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box, if cost of 1 cm? of wood is Rs..20. (0 20990 8 (—ﬁ"a—cﬂﬁ"aﬁ T B U snawgs
| N S B B A S B

(A) Rs. 320 (B) Rs. 640 (A) 320 T (B) 640 9

88. (a-bpP+(b-cP+{c-a)P= ig% (@=bP+(b-c)+{c-a)f=
(A)o o (Ao S
(B)1 %Z’ (B)1 . &
(C)a*+b?+c2-ab- bc ca s (C)a?+b>+c?-ab-bc— ca

~ (D)3(a=b)(b-c)(c—a) ?;"‘;;z (D)3 (a=h)(b-c)(c-a)

'89. ifa:b=5:3,then(5a+8b):(6a—7b)is- 89 afX a:b=5:3,a7 (5a+8b):(6a-7b) & —
(A)9:49 (B)49:9 T (A)9:49 (B)49:9
(€)3:7 (D)7:3 (€)3:7 (D)7:3
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- 90. Which of the following options is CORRECT?
{1) In star connection Line Current (I} = Phase
Current (lp)
(2) In star connection Line Voltage (V)
Phase Voltage ,
(3) In star connection Iy = V3 Ip
. (4) In star connection V. = Vp

=+/3 times

. 90.

e e

ﬁwﬁ%ﬁﬁﬁaﬁﬁwﬁm‘ﬁﬁg’e
ﬁﬁﬁwﬁmw(h) = B HRT

(2) 'R FRME ¥ W9 deedr (v) = o

: s Bl O .

(3)WWH7§'L=\/§IP

(4) TR FARME F Vi =V,

(A)1and3 {(B)1land2 ' :
{C)2and3 (D)2anda fg;:zl ﬁ > (B’)l g 2
‘ . 3 (D) 2
91. An aeroplane requires a s 91. TS T8RS B IS :
peed of 30 km per hour 91.
for take-off, the run on the ground being 100 m. ' gq]z‘gf e B Ty ;Qaqmqwm 2 fa SO%WI?I
The mass of the plane is 10,000 kg and the R T Hew Eﬁ?ﬁwg Wm
coefficient of friction between the plane and the Ww Y200 @ gaﬁ%l NEN)
ground is 0.2. Assume that the piane accelerates 21 Tae 10:000 ﬁ;mm & Gﬁ?
urTlf‘ormly .during  the take-off. What is the o @ 4 gfﬂ g’ﬁ OZ%I qE
minimum force required by the engine of the plane AT o f qﬁ ?5 bk
for take-off? ;‘Z IR v %t IS MR & ferg 33'5‘ NEN
t EN RN ems'qzﬁ RIATH gl 7
(2) 24690 N (B) 34680 N (A)24690N.  (B)34680 NEFqT i
0 £ 03 14390 N s vh(l:z 19600 N (C)44290N (D) 19600 N
. square thread, the distance between the 92. w9 & Rrer 3t |
crestand root {d) is.i............ when pitch (p) is given. @ %g?ﬁ % Waﬁ%ﬂag (df)%j'f i ?
(2)d=0-86p ' (B) d=05p (A)d=0.86; ' (B)d-= iy S
i (C)d= 0.61p (D)d=0.64p (C)d=0.61p (D; d= 325
« Boyle’s and Charles’s law together form th 93. dfaa s Hreg ﬁ'm:{p
following law - - non . et ﬁazrer DI ;Tﬁqﬁ'qq aamm 2 . o
A)Pv _ ‘
N2 = constant (B E¥ _ ooy e L
(C) pv=Constant (D) - = Constant (C) PTv‘ 3N (D)
94. what type of failure will occur w AATIFHAT 9§ BT ?:ITE'GIV ﬁﬁzﬂ
hen rivet S 94,
“smaller than necessary? Ne- i bR P 'ﬁ?ﬁa’fﬂ' P ET'EF = A
(A) Tearing of plate between the holes (A) 8 & TBE"‘lTk
(B) Tearing of plate between the edges ﬁﬁ?ﬂﬁ : b Fe
(C) Shearing of rivet A 4 ®) Riew = é:'—ﬂsm'@a bl
(D) Crushing of plate’ ﬁ © < bl
: (D) wie &1 BRI
95. Claw couplings come under which type of 95. it wufeiT g ysR Eﬁ BUfeiT 31("!“6
couplings? ; 3T %? i
(A) Rigid coupling (B) Disenga i RiSre Eﬁqﬁﬁ RARAT FHafshr
) | . g'ng A B i . - . <
' 4 coupling @ k - ® . ;
‘(C) Flexible coupling (D) Flanged coupling ’ (C)m HURAT (D)qu;}'»g HURAT
- : \r
96. Thtust bearings are suitable for the shafts where 96. o fOfT S wvet @ forg g‘qg"qa‘ .
the subjected load on the shaft is.............. : R Y W) frarsiha e g‘ﬁﬂgﬁ :
(A) Ax:al (B) Perpendicular (A) 3 B Hﬂ'ﬂﬁf .............. % !
{C) 60° to the axis (D) 45° to the axis (C) 3187 T 60 :D; )
- »‘ ° 38T UX 45°
. — :
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- 102. Which of the. follo‘wing is

97. Which of the following does not come under anti- -
friction bearings?
- {A) Thrust ball bearing
_ (B) Cylindrical roller bearing
(C) Needle bearing
. (D) Pedestal bearing

98. Metal pipes used to carry water sometimes burst

in the winter, This is because —

(A) Water expands when it freezes.

(B) Metal contracts more than water.

(C) Outside of the pipe contracts more than
inside.

(D) Metal expands more than water.

99. Gauge pressure at a point is equal to -

(A) Absolute pressure + Atmospheric pressure
(B) Absolute pressure — Atmospheric pressure
(C) Vacuum pressure + Absolute pressure

(D) None of the these

100. Engineering strain of a mild steel sample is
- recorded as 0.100%. The true strain is —
. (A) 0.01% (B) 0.055%
(C) 0.099% , (D) 0.101%
101. Which is the centre of gravity of a right circular

" cone from the base, where ‘I’ is the vertical height

of the cone?
(A) h/2
(C) h/4

(B)h/3
(D)h/5

FALSE regarding

sketching?
(A) Initial ideas are represented in sketch form

(B) Sketching are made in correct proportions
(C) Sketching is done with the use of instruments

(D) Sketching need not have a scale

103 If after 24% wastage, the net output of a coal mine
is 60800 tonnes, then the gross output of the mine

07. P % % B adoER R
arcrter, ET ST 87

(A) sree dfer Rafin B
(B) deTaR e faafm |
(C) st R |

(D) treeer i

98. qﬁéwﬁzﬁf‘m’wa@@mm—
N gl ¥ we Wn %sﬁwsﬂ?ﬂ%
FifH—

(A)trﬁ’rmq'\f%m%‘i ;

(B) arg & aifdres wgfer e B
(Qmmwﬁwmaﬁwﬁa@m
- efd BT B
(D)H@Wﬁamwﬁﬁ%t

100. wsoe @ B T BT FONENT A
0.100% TS fbaT T ¥ | AR A & -
(A) 0.01% (B) 0.055%
(C) 0.099% (D) 0.101%

101. wmmmmmmﬁw
g P AT L, TTET h g B FEARR HAY
27
(A)h/2 (B)h/3
(C)h/4 (D)h/5

102. W%Wﬁﬁwﬁ{%ﬁﬁﬁaﬁﬂw
Terd &7
(A) TRfAE fERl B W T T # g

A B | |

(B) @@= @ IruTal H 99I¢ ST §
(C) SRl & SUINT | WM B Wik &
(D) =i & forg @1 T W g

103. gfY 24% q@idY & a€ TH BT WS Bl
@ SeUTET 60800 T §, T WA T D

is ~ : JAET & —

(A) 75392 tonnes (B) 75492 tonnes (A) 75392 ¢4 (B) 75492 ¢

(C) 80000 tonnes (D) 82000 tonnes (C) 80000 < (D) 82000
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112.

113.

114,

115,

116.

117.

if a cutting plane cuts the 6 edges of a cube at their
mid ~ points, the section will be a —~

(A) Ellipse (B) Conic section
(C) Parabola (D) Regular hexagon
WhicH of the following is used to convert 3

rotational motion into a translational motion?

(A) Bevel gears

{C) Worm gears (D) Rack and pinion
gears
Atmospheric pressure in terms of water column is—
{(A)75m . (B)8.5m
(C)9.5m (D) 103 m
If 3-2— X 253:8- XzZ= 1i2’ then z is equal to~
(CES (B) 2
79 79
()2 D)2
79 38

2.5X3.5X7.5X85
1.7x1.25X52.5

(A) 2.5 (B) 5.0

(C) 50 (D) 25

if an isometric projection is drawn with true

‘measurements, but not with isometric scale, then

the drawings is called - -

(A) Isometric projection (B) Isometric view

(B) Double helical gears

112.

113.

114.

115.

116.

It 9P FHIc are T, TH TH D 6 (PRI
&1 S &g — fgail W wrear 8, ar oRp
BHIT —
(A) Srefger (B) ¥ig T
(C) waerm - (D) Fafie vegs
Preafee ¥ & et wwRrT it TR @t
R R ¥ aEer @ farg Ay wmr #7
(A) a3t e (B) T gsfer P
(C)ant firR (D)X 3R fafr
| iR

U ® W B ded # argHedy g9 § —
(A)754 (B) &5+ |
(C)o.s 4. (D) 10341,
Uf%B ><2—~><z~—w Fﬁzwg—
w%' (B2

e o2
2.5X3.5X7.5%8.5 :
1.7x1.25x52.5 = ﬁ
(A) 2.5 (B) 5.0
(C)50 (D) 25

A} v GRS ved wE A9 B Wy i

117.

ST ¥, of wegRe Yam @ wrer g, @
o B w81 9T € — ,
(B) ugR% gwa

104. A number 391 is divided into three proportional  104. g wverr 301 @1 A1 FHIUII® q:n':ﬁ' 1.2,

parts— ‘3 - Thethn'd part is equal to— 3 1}[ frrfrg fosar sIra %\| ?;j‘rﬁ?l WY W‘
. %_ «

(A) 153 (B) 136 (A) 153 (B) 136

(C) 102 (D) 85 (C) 102 (D)5

105. if oand P are the roots of 32— 4x+1=0, thenfind 105, o oo B 3 -4x+1=0 T ¥, A j"f;
the equation having roots-ogancl%i . AR %2_ il El'l?ﬂ T =T W‘

(A) 9x*-28x-3=0 (B) 9x*~28x+3=0 (A) 92— 28x~-3=0 (B) 9x—28x +3=0
(C)9+28x+3=0  (D)9%*+28x-3=0 (C)9x2+28x+3=0  (D)9x2+28x-3=0

106. A solid cylinder has total surface area of 462 cm?, 106. U S 9 BT Hol BN A% 4629712
its curved surface area is one third of the total 2| TGP THIPR W ATHT E@Ef’f W
surface area. Height of the cylinder is — &P BT Uh f%raﬁ B 9 B Wl'é T -
(A)7em (B)3.5cm (A) 7 9. (B) 3.5 9.4
(C)1.75 cm (D) 0.75 cm . (C)1.759Q ). (D) 0.75 | A,

107. size of a cuboidal ghee tin is 30 cm x 40 cm x 107 gAMIHR 0 & &9 &1 AHR 30 VAL x
50 cm. If the cost of tin sheet Rs. 20 per square 409H. x 509H. g1 IR o wR & oI
meter, the cost of the tin required for making 20 2059y ufy 9 Arex & a0 20 T oM
such pieces is — & for) savae feq =R & T ' —
(A) Rs. 18800 (B) Rs. 1880 (A)18800 9% (B) 1880 T73
(C) Rs. 3760 (D) Rs.376 (C) 3760 31 . (D) 376 5T

108. Which one is a curve with two same curves in 108. o= 9T Uep VT Ip & OT9H I GHI9 956 819
which one curve is a reverse of the other curve? g, R v 9% ‘c.:ﬂ? geh BT Il BIAT 87
(A) Ellipse (B) Parabola (A) "c?rﬁ?fﬂ (B) gy ‘

(C) Ogee (D) Circle (C) fe=an (D) g

109. Which of the following is not essential information 109. v Qurmy oM @ forv fAwfaREa ﬁ I
to construct a scale? ' P 3MaIH AT 78T &7
(A) The R. F. of the scale . (A) 9T BT AR, T
(B) The units to represent E (B) yeffa & arell Sargai
(C) Maximum length (C) sifdrepa waTg
(D) Length of scale (D) ﬁqﬁ CARCCIR]

110. A plate of a negligible thickness of circutar shape is 110. qEAFHR MHR B T qACE & IH QE
placed parallel to horizontal plane. The front view A 99 & FEFIaR @l Tlﬁ 2 ‘\’TFFF}r BT

-~ will be - 399 BN —
(A) Line’ (B) Circle (A) ¥ BT
(C) Rectangle (D) Ellipse (C) s (D) Sreigr |

111. The basic law for analysing an electric circuit is — 111, e uRuer &1 ]%ISZ%W Eﬁ?’-éf @ fory i
- . frme -

(A) Einstein’s theory  (B) Newton’s law (A) ssE= @1 Rigia (B) _e $ A
(C) Kirchhoff's law (D) Faraday’s law (C) freate & g (D) oRIe &
126 O Page 16 of 24

(A) TGRS wEy
{C) Isometric perception (D) Oﬁhographic view ©) ﬁ 31‘3":3;{%1 (D) aifeifarf o |
118. The method followed in perspective projection 118. wgel ueiy % sru=rs o= arell Ay g‘*/% —-
'(SA/;rgnly vamshmg pomt method (A) Baet g ﬁg fafer
(B) Only visual ray method (B) Baa g9 fowor fafy
(C) Both (A) and (B) (©) (A) ) 3R (B) BT
(D) None of these v . (D)g‘ﬂﬁ K] Erfls‘ RG] ,
119. Drawing showing the position of each part with 119, TR% w1 & Refy @) va TR B AT
respect to each other is called — 29 arerr R FEer & —
(A) Assembly drawing .(B) Part drawing (A) TiTe Ry (B) T fary
(C) Machine drawing (D) Installation drawing (C) 7 Ry (D) g R
126 8 - Page 17 of 24



120.

121.

122,

123.

124.

125.

In case of clamp coupling, power is transmftted by
means of -

(A) Shear strength

(B) Compression strength

(C) Friction

(D) None of these

The purpose of earthing is to ensure an —

(A) Low resistance path

{B) High resistance path ' Ry
(€) Medium resistance path | E
{D) Heavier path :

A body of mass 2 kg is thrown vertically upwards

with an initial velocity of 20 m/sec. What will be its
potential energy at the end of 2 second? (g = 10

m/sec?) ,

(A) 200  (B) 300

(C) 4001 (D) 500J

If the displacement of an object is proportional to

square of time, then the objéct moves with -
(A) Uniform velocity

{B) Uniform acceleration -

(C) increasing acceleration

(D) Decreasing acceleration

If three numbers are in the ratio of 3:2:5 such that
the sum of their squares is equal to 1862, then the

middle number is -

(A1 (B) 35
(C)14 (D)7
Identify the symbol shown below-

(A) First Angle Projection
(B) Second Angle Projection
(C) Third Angle Projection
(D) Fourth Angle Projection

120.

o

-

T

ff”%

f,m

Te
O
%’:}%}

-125.

(©)14

I FURIT B AT §, T BT FAR D
qEH | BIAT 87

(A) ITowYoT g

(B) withe et

(C) =rfor

(D)sﬂﬁﬁaﬁ‘éﬁﬁr

.20 W /W B URRE AT B W 2 AT D

g1 2 VTS P yTE 3EH R ot w
2f? (g=10 91/ W)
(A) 200
(C) 4001

(B) 300
(D) 50014

-‘?If%‘cﬂwmrq:szsa%agtrmﬁsvmﬁ

ﬁ?sﬂzﬁwﬁzﬁru‘mwez% qr weg qrel
& T -
(A) 21 (B)35~
(D)7

fae ey v udfies @7 uEuE —

=

(A) 92| SIoT Hegor
(B) g Yo7 yegor
(C) T roT waruor

(D) =il T eI

126. Following pie-chart shows points scored by four
teams in a quiz competition. The average score of.

all the teams is -

(A) 22% (B) 25% e

(C) 27% (D) 29%

[ ' ’ &y
127. The variation of efficiency with respect to load fé’"r;t% 127.

a DCmachine is represented by - - -

Ay (B) 1 S
B K L
s Voo

Lottt e

€)1 \ D) Z e
3 g;é
/ o

Load =ed

Toud —> o

0

128. A short cylinder of circular cross section and we!gl“fﬁi? 128.

g
W is resting on a V — block of angle 20 as shown ™

figure. The reaction at point Ais ~

(&) B) X

2 sino

(©)

(D) Weosa
e ‘ .

2 cosa

" (A) 22%

(cn\ NOTE ,

126. e - vs faw wfeafrer & 3w
&7 3 o & —

(B) 25%

(C) 27%
W%@ﬁmmﬁﬁr%@aﬁmwﬁwa
uRecH weRia far ser & —

(A) 1

(B)4 :

(D) 29%

HIY e

TATHR I FIE IR W AR BT TP BT
Yo R # R IR, 20697 & V- T
W fewT gem 21 g A W ufafar 2 -

@y Boe
©_v Cowes B

2 cosa

126 O
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129. Find the equivalent re;sistance of the circuit shown 129. R v Ry 4, oo @t AT TfoREr
in figure ~ ‘ : g N — "
100 : _
/ 100 Joo .
SOn N
(A) 100 (B) 1.33Q x . Y
"~ (C)3.33Q {D) None of these {A) 10Q (B)is3zq - . '
. (@330 D) g & P T/
130. identify the missing side view for shown third angle 130. T3y 71g ?fﬁ'ﬂ I YT § Srger gred gy
projection— : \ ' BT gEIT — ;
: {-:A'; | .. .:.‘Af:'
: A-—P: A—-—b: |
W] e s W] B A
NClrygl O)[a ©fa oNa]
131. Determine the equivalent resistance across x-y - 131, x—y P IR—IR I YRR S BT —
. x : X0 e ‘
rQ rQ 0. rQ
F 9 rQ rQ rQ
y ‘ y
(A) zero - (B)r _ (AT (B)r
{C)zr - (D) None of the above  (© 2 (D) T4 | P T8
132. Which of the following is B-H curve of permanent 132, /7 5§ @ iﬁ?r\':ﬂ Il g BT B-H T %7
magnets? (A) B 7 (B) ~
(©) \B
126 O Page 20 of 24

133. in 1% angle projection, the positfons of front and 133. yem o7 yeuor § wEe S ofig fg@ﬁ Gl
top views are- - : Rerfa zﬁ?ﬁ %’ =
{A) Top view lies above the front view (A) 9y LD G B zggq P JUR Rerq srar
(B) Front view lies above the top view (B) g-p:ﬁ Eafcee o Yy ® ST Rerg grar
(C) Front view Hés left side to top view (C) ur= Dl G HW ® 9%y b IR AR
Rera i 2 :
(D) Top view lies left side to front view (D) 3 3 9 & FRs % qrff iR Rerg
134. The angle between the isometric axes is - 134. qugRe el & dra &7 BT & —
. (Msee (B) 60° (A) 180° (B) 60°
 (©)90° (D) 120° (C) 90° (D) 120°
135. The dimensions of a light year are - 135. u® yaer of @) foud § —
(A) L B)1 (A) L | (B)T
'(c) LT? (D) diménsionless (cyLtt (D) ﬁm-gﬁ——r
136. In which system of dimensioning the figurescanbe  136. fa#i &1 fobe yorell # s dact N 9
read from the bpttom.onlyand the dimension lines ug whd & iR fammg afferg o= & 1%1’?
are broken to insert dimensions? - fog Rgwett B deT Tl 87
(A)’ Avligned system (A) sraoTa gomelt ﬁ
(B) Unidirectional system _ (B) vawiesfi womrel :
(C) Non-aligned multidirectional system (€) 'f\r\r__e"[i‘gﬂ'm ERENINC I
{D) Parallel system (D) TR o
137. Which grade of pencil is used for frée-hand 137. o g @R iR el & R faa Us Efﬁ
sketching and lettering? URTeT BT SUANT T T 87 :
(A) Hor HB (B) 2H Aw@awad (B2
(C)3Hor4H (D) None of the above (C) 3we 7 47T (D) 5% & P 71EF
138. The point (-5, 2) is nearer to - 138 fag 5, 2) ﬁv_ﬂ?ﬁ 3rferes g 2°
(A) x-axis (B) y-adis  Wxsw (B) y—7
(C) linex=2 (D) liney=-5 (C)¥am x =2 (D)¥&r y=-5
139. Find the number whose third part multiplied byits 139 i@ sma o Rrger e R ik
 eighthpart gives 864 - 313aT 2T T UHHE 864 Tl & —
(A 12 (B) 36 (A) 12 (B)36
)72 (D) 144 ©72 (D) 144
126 D) Page 21 of 24



140. A man of weight W = Mg is standing on a lift which

is moving upward with an acceleration a. If g is the

acceleration due to gravity, the apparent weight of

the manis -,
@w(ir)  @w(-y
©)w (D) zero

141. A block takes twice as much time to slide down a
“rough 45° inclinéd plane as it takes to slide down
on identical smbcth 45° inclined plane. The
coefﬁcie‘nt of kinetic friction between the block
. and the rough inclined plane is -
(A)o.2s (B) 0.50
(©)0.75 (D) 1.0

142. The relative permeability of diamagnetic material

is-
(A)Equalto 1 (B) Greater than 1

(C) slightly lessthan 1 (D) very high

143. The area of the field is 50,000 sq.m. The length and

 breadth of the field on the map is 10 cm and 8 cm

_respectively. What is the representative fraction of

the scale? '
1 X oL 5 uo
(&) L ® L BE
©_ (D) _L_
2000 1600

144. |dentify the wrong statement is context of heat -

(A) Heat is energy in transit

(B) Heat flowing into a system is considered as
negative and heat flowing out as positive

(C)It is transferred from higher | to fower
temperature

(D) Heat is a path function

(€)1 ¥ T B

140. w=Mng®mmw®i{
Sl T @R B W SR A SR 9E /T &)

IS AT B HROT @RT g &, a‘rmﬁﬁ
FT T IR & —

A w(1+ g)
©Ow

@w(i-)
(D) 3=

141-’@&?‘1@%&45°@$§qwmw%3ﬁ

3R Rewa ¥ 45° R g 50 B a9 W
A @ AR R § TR g7 W W g
ARRECHCIR I cC i i R B
a1 TRt Efor T oI
(A)0.25 (B) 0.50
(C)o.75 (D) 1.0

142. gRggay veref & it greTwar @ —

(A)1 & &R (B) 1 ¥ aiferp

(D) g 3#21?5

143. A5 &1 &% 50,000 T Hexw ) Wf%ﬂ

Wﬁma%amésﬁ?%ﬁ@ém 10 94
3R 8 AL B T BTGRP fr @ 22

(A)_ L. (B) L1
3200 2500
- - (D) _1_
2000 . 1600

144. w1 3 < § Tord dort ) e -

(A)mmwm:rﬁmﬁ%

(B) Pyt ¥yl s woners B & sk

Wﬁwﬁammﬁcﬁ%
(C)mwmﬁﬁﬂma%aﬂ?uaﬁﬁ
B &

| (D) &o7 T T 7Y U W R gt &
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i ‘ 145, weIReT a9 qderer § Agee WA T B
148. The total area under stress-strain curve of a mild
steel specimen in simple tension test is a measure S{q GRIES ﬁ@%{ g% B ded H B T
of- ' -
(A) Ductility {B) Ultimate tensile {A) e (B} yvH q=Iar &l
; : strength : .
(C) stiffness (D)) Toughnass (C) st | (D) m
146. The gross mechanical power developed by a motor ~ 146. Tﬁ‘d‘\' R faefa ?gcﬁ‘c?i i3 e 34@@6;
: is' maximum when back EMF is equal to ... gl 8 aa%iaqéml THUS. WYad el
theappliedvoltage. ;
(A) half (B) three fourth (A) 3mer (i} ?-'ﬁ?f GIPIE
(C) one third ‘ (D) equal (C)ytwm ﬁﬁﬂg (D) E}f!ﬁ e
147. Which of the following coupiivng can be used for 147, frefaRaa & @ Cbizgiﬂmg;;q 5 R
misaligned but parallel shafts? %}‘ ‘f)i%j LEIBIRSS] i?fill STTCT
(A) Oldham coupling ~ (B) Muff coupling (A) 3ﬁ‘€“¢r =9 T (g) ik T
(C) Flange coupling .~ (D) Clamp coupling , {C) EE;'{G[ gﬂ"ﬁ ' (D) z_jq%\,w
148. In figure, if O is the centre of a circle, PQ is a chord 148. Ity +, afko Qﬁg@iﬁ Eg) E% ;(Tlaﬁfgfﬂmlal
and the tangent PR at P makes an angle of 50° with 23w P W;ﬂg PR,} PG g 2]
PQ, then £POQ is equal to — PHIOT AT B, 2P0Q IR
| R ' R
0° A) 120° {B) 100°
A) 120° (B) 100 (A) 1 a ' )
fc; 135° (D) 150° (C)135 (D) 150
149. The ratio of boys and girls in a group is 7 : 6. If 4 149. o g@;ﬁﬁ c;%sqcm AR GSI:;MI i g‘%%g
join i 7:6% | 4 D g H wihe
more boys join the group and 3 girls leave the AR
he rati i 3, 2 3R 3 wefedl g Bis TSHI
group, then the ratio of boys to girls becomes 4 5
What is the total number of boys and girls initially Rl as%u*f 3 aﬁqﬁ% Sim K 1 URH 5
in the group? at%‘r 3R G SCR] el el '\’313333
faraeit 27 -
(A) 117 (B) 91 (A) 117 (B) 91 E
©)98 (D) 104 (C) 98 (D) 104 N
- 150. Traders A and B buy two goods for Rs. 1000 and  150. =mqrey A sﬁ? B QI G A 1000 Wﬁm i
Rs. 2000 respectively. Trader A marks his goods up 2000 ?ﬂ{’é}f TR § | EEITEF? A_Sﬂqel ' ,
by x%, while trader B marks his goods up by 2x% X% Td Tled Rl 8, Tafd m%lqaﬁql’\ﬁl /31‘1;!
‘ 0, XO
and offers a discount of x%. If both make the same HIel U 2x% ﬁa—; ﬁ‘?ﬁz? ﬁwl. . ﬁ—\,__;ﬁ
non-zero profit, find x. B U Eﬁ?ﬂi ! T
: ‘ AT HHT §, A x ST BT |
(A) 15 (B) 25 (A) 15 (B) 25
(C) 35 (D) 45 {C) 35 (D) 45
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